CLASS 12

CONTINUITY AND DIFFERENTIABILITY

LOGARITHMIC DIFFERENTIATION

EXERCISE

The derivative of x* is -
(A) x* [axx1 + axlog a log X]
(C) x* [a* + xa* log x]

Ify = log (x¥), then % equals -

(A) log (ex)

(C) log (x/e)

The derivative of x1/* equals-
(A) x/xlog (ex)

(C) x1/xlog (x/e)

Ify =™ then j_y equals-
X

(A) cos1x

(©) 1/+v1-x?

If xy = ey, then g_y equals-
X

A X
@) y(y-1)

C X(y_l)
( )-—37—

(B) x*" [xa* + axlog X]

(D) None of these

(B) log (e/x)
(D) 1

(B) x1/¢log (e/x)
(D) None of these

(B) 1/sin1x

(D) x/V1-x?
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Q.6

If (cos x)¥ = (sin y)*, then g_y equals-
X

logsiny —ytanx
(&) ot
0gCoSX + Xcoty

logsiny +ytanx
(C) | gsiny+y
0g COSX + Xcoty

The derivative of (tan x)* is equal to-
(A) x (tan x)*1

(C) (tan x)* [x sec x cosec X + log tan x]

d .
= (xlogx) is equal to-

(A) 2x logx-1]og x

(C) 2 (log x)

logsiny +ytanx
(B) pro
0gCoSX — X coty

(D) None of these

(B) (tan x)* [sec x + tan x|

(D) (tan x)* [sec2x + x tan x]

(B) xlog x-1

(D) xlogx-1 Jog x

Ify = eo9c0s ' 4 gloosin“x () < x < 1, then which of the following statement is true -

(A)y1=0

(C) y1 does not exist

If y = eax*b, then (y2)o is equal to -
(A) aeb

(C) a%e?

Differential coefficient of xlogx is -
(A) 2xlogx log x

(C) 2xlog(ex), log x

(B)yz=5

(D) None of these

(B) 2xlog(x/e) Jog x

(D) None of these
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Q.12 Ify=xx then the value of j_y is-
X

(A) xx (B) x*log (ex)

(C) xxlog (gj (D) xx1log

ANSWER KEY




